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Vertical transformations
Describe the transformation from the parent function

y=cos x+3 y=cos x-2
y:sinx+% y=4+COSX

y= !cosa)x+!

y=Asinwx+ B

B- shifts graph up or down (follow the sign)

What happens to the average value?

We can write the MIDLINE EQUATION - the horizontal line that is the
average value (soy = ...) S B
Why is the midline equation helpful??
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Describe the transformation of the blue graph from the parent red graph

¥

 y=sinG
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amplitude:
period:a“'

vertical shif‘r:‘Ap pY
midline equation: 3;

Graph y=-3simnx+2
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